

Letting:

05200602

Florida Department of Transportation

07/01/2020

Page 1 of 1

Vendor Ranking

District: District 5 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 4473581E201 (*)

Contract Desc: PRE-EVENT CONTRACT - PERMANENT SIGNAL REPAIR - DISTRICTWIDE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TRAFFIC CONTROL DEVICES, INC.	Responsive	Winning bid	\$5,800,867.50	100.00%
2	AMERICAN LIGHTING AND SIGNALIZATION, LLC.	Responsive	Non-Winning Bid	\$6,198,300.00	106.85%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 13

07/01/2020

 Letting:
 05200602
 June 02, 2020
 Call Order:
 007
 Contract:
 Z5054

 District:
 District 5
 Counties:
 DIST/ST-WIDE
 Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 4473581E201 (*)

Contract Descr: PRE-EVENT CONTRACT - PERMANENT SIGNAL REPAIR - DISTRICTWIDE

FDOT District 5

Proposal ID No.: Z5054

Financial Project No.: 447358-1-E2-01

Fiscal Year: 2020

Counties: Districtwide (Flagler, Volusia, Brevard, Lake, Sumter, Marion, Orange, Osceola, Seminole)

Calendar Days: 365 Lead Time: 14 Days

This is a Pre-Event Maintenance Contract. The Contractor shall provide a letter to the Department at the time of bid, from a surety authorized to do business in the State of Florida, verifying the Contractor is bondable in the State of Florida. For the purposes of this Contract the dollar amount is established at \$1,000,000.00.

Awarded Contractor must execute contract documents within five (5) calendar days, excluding Saturdays, Sundays, and state holidays.

Intent:

Provide permanent Traffic Signal Repair Operations pursuant to a Governors and/or Presidents Declaration of a State Emergency. Provide all labor, material, and equipment required to complete the work described in this Contract including Temporary Traffic Control (TTC), Mobilization, and Demobilization costs. Traffic Signal Repair Operations may also include nighttime work as directed by the Department.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Letter of Authorization (LOA). LOAs will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

PREQUALIFICATION REQUIRED

Line No / Item ID Alternate Item Description	Quantity Units	· ,	C CONTROL ES, INC.	\ , ,	LIGHTING AND ATION, LLC.		
() indicates item is bid as Lump Sum	00	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount





Tabulation of Bids

Page 2 of 13

Letting:	05200602	June 02, 2020	Cal	l Order: 007		Contract:	Z5054	
Line No /		nate Quantity Units	(1) TRAFFIC DEVICE		(2) AMERICAN L SIGNALIZA			
	s item is bid as Lump Sເ		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(EMERGENCY	MAINTENANCE (МН				
WOOD POLE	2108 E, MAX 50', FURNISH MPORARY POLE, FO TRACTS ONLY		2,983.00000	14,915.00	500.00000	2,500.00		
GUY WIRE F POLE, FURN	2109 OR WOOD OR CON IISH AND INSTALL, F CONTRACTS ONLY	FOR	757.00000	18,925.00	500.00000	12,500.00		
NATURAL DI CONTRACTS	9 1 1 SASTER /PRE EVEN S, CREW PRE- G: DO NOT BID	10.000 NT ED	2,500.00000	25,000.00	2,500.00000	25,000.00		
	0 211 URNISH & INSTALL,	3,500.000 OPEN LF	9.60000	33,600.00	5.00000	17,500.00		
	0 214 URNISH & INSTALL, UND	3,500.000 LF	24.50000	85,750.00	10.00000	35,000.00		
SIGNAL CAB	2 7 1 BLE- NEW OR JCTED INTERSECTI NSTALL	200.000 PI ION,	6,523.00000	1,304,600.00	5,000.00000	1,000,000.00		
SIGNAL CAB	2 7 2 BLE- PLACE/OTHER, FUR	3,500.000 LF NISH &	5.45000	19,075.00	10.00000	35,000.00		
	4 4152 ASSEMBLY, F&I, TW GONAL	5.000 VO PI	4,806.00000	24,030.00	15,000.00000	75,000.00		





Tabulation of Bids

Page 3 of 13

Letting:	05200)602 J	une 02, 2020	Cal	I Order: 007		Contract:	Z5054	
	/ Item ID scription	Alternate	Quantity Units	(1) TRAFFIC DEVICE		(2) AMERICAN I SIGNALIZA			
() indicate	es item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
s	ECTION: 00	01 (EMERGENCY	MAINTENANCE (I	МН				
SPAN WIRE	34 4153 E ASSEMBLY, X OR DROP BO		5.000 PI	8,806.00000	44,030.00	20,000.00000	100,000.00		
	34 4154 E ASSEMBLY, HER TYPE	F&I, TWO	5.000 PI	8,806.00000	44,030.00	15,000.00000	75,000.00		
SPAN WIRE	34 4341 E ASSEMBLY, DINT ATTACH, CULAR	INSTALL,	5.000 PI	2,634.00000	13,170.00	10,000.00000	50,000.00		
SPAN WIRE	34 4342 E ASSEMBLY, DINT ATTACH,		5.000 PI	2,245.00000	11,225.00	10,000.00000	50,000.00		
SPAN WIRE	34 4343 E ASSEMBLY, DINT ATTACH,	,	1.000 PI S	3,411.25000	3,411.25	15,000.00000	15,000.00		
SPAN WIRE	34 4351 E ASSEMBLY, ACH, PERPEN		5.000 WO PI	3,411.00000	17,055.00	10,000.00000	50,000.00		
SPAN WIRE	34 4352 E ASSEMBLY, ACH, DIAGON		5.000 WO PI	3,022.00000	15,110.00	15,000.00000	75,000.00		
SPAN WIRE	34 4353 E ASSEMBLY, ACH, BOX SPA		5.000 NO PI	4,188.00000	20,940.00	20,000.00000	100,000.00		





Tabulation of Bids

Page 4 of 13

Letting	j : 05	5200602	June 02, 2020	Cal	l Order: 007		Contract:	Z5054	
	No / Item ID Description	Alternate	Quantity Units	(1) TRAFFIC DEVICE		(2) AMERICAN I SIGNALIZA			
() indi	icates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(EMERGENCY	MAINTENANCE (МН				
	0634 4400 /IRE ASSEMB	SLY, ADJUST	5.000 PI	2,451.00000	12,255.00	2,500.00000	12,500.00		
		SLY, REMOVE-	5.000 PI	621.00000	3,105.00	1,000.00000	5,000.00		
		ATOR, FURNIS	250.000 H & LF	47.50000	11,875.00	40.00000	10,000.00		
		F&I, 13" x 24"	25.000 EA	697.00000	17,425.00	300.00000	7,500.00		
	0635 3 11 ON BOX, FUR	NISH & INSTA	20.000 LL, EA	601.00000	12,020.00	150.00000	3,000.00		
ELECTR OVERHE	EAD METER F ACTOR FROM	R SERVICE, F8 PURCHASED E 11 POWER		2,922.00000	29,220.00	1,500.00000	15,000.00		
ELECTR UNDER		R SERVICE, F8 TER PURCHA		2,422.00000	24,220.00	2,000.00000	20,000.00		
		CE WIRE, FURI	3,500.000 NISH LF	3.70000	12,950.00	20.00000	70,000.00		





Tabulation of Bids

Page 5 of 13

Letting:	05200602	June 02, 2020	Cal	l Order: 007		Contract:	Z5054	
Line No / It		te Quantity Units	(1) TRAFFIC DEVICE		(2) AMERICAN I SIGNALIZA			
	item is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(EMERGENCY	MAINTENANCE (МН				
	4 3 GENERATOR - POR ROFIT; FDOT FURN		338.00000	5,070.00	2,500.00000	37,500.00		
	4 5 GENERATOR - IONITOR & REFUEL	250.000 HR	261.00000	65,250.00	300.00000	75,000.00		
0135 0639 EMERGENCY FOR CABINET	GENERATOR - HAR	250.000 RNESS EA	529.00000	132,250.00	300.00000	75,000.00		
	2 12 ED CONCRETE POLE RVICE POLE	25.000 E, F&I, EA	1,392.00000	34,800.00	1,000.00000	25,000.00		
0145 0646 ALUMINUM SI	1 11 GNALS POLE, PEDE	25.000 ESTAL EA	1,666.00000	41,650.00	600.00000	15,000.00		
	RAFFIC SIGNAL, ISTALL ALUMINUM,	35.000 AS 1	772.00000	27,020.00	850.00000	29,750.00		
VEHICULAR T	1 12 RAFFIC SIGNAL, ISTALL ALUMINUM, WAY	35.000 AS 1	2,090.00000	73,150.00	1,800.00000	63,000.00		
	RAFFIC SIGNAL, ISTALL ALUMINUM,	30.000 AS	1,135.00000	34,050.00	3,000.00000	90,000.00		





Tabulation of Bids

Page 6 of 13

Letting:	05200602	June 02, 2020	Cal	l Order: 007		Contract:	Z5054	
Line No / It		te Quantity Units	(1) TRAFFIC DEVICE		(2) AMERICAN L SIGNALIZA			
	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(EMERGENCY	MAINTENANCE (I	МН				
VEHICULAR T FURNISH & IN	1 18 RAFFIC SIGNAL, ISTALL ALUMINUM, RAIGHT, 1 WAY	30.000 AS	1,632.00000	48,960.00	3,500.00000	105,000.00		
VEHICULAR T FURNISH & IN	1 24 RAFFIC SIGNAL, ISTALL POLYCARBC , 3 SECTION, 1 WAY		1,099.00000	32,970.00	3,000.00000	90,000.00		
FURNISH & IN	RAFFIC SIGNAL, ISTALL POLYCARBO IUM TOP SECTION, 3		1,850.00000	55,500.00	2,500.00000	75,000.00		
VEHICULAR T FURNISH & IN	1 29 TRAFFIC SIGNAL, ISTALL POLYCARBO SECTION CLUSTER,		1,632.00000	40,800.00	3,500.00000	87,500.00		
	1 50 RAFFIC SIGNAL, INS	25.000 STALL AS	466.00000	11,650.00	500.00000	12,500.00		
VEHICULAR T	1 60 RAFFIC SIGNAL, LES TO REMAIN	20.000 AS	77.50000	1,550.00	500.00000	10,000.00		
VEHICULAR T	1 70 ΓRAFFIC SIGNAL, NCLUDES REMOVAL ΓΙΟΝ	20.000 AS AND	762.00000	15,240.00	2,500.00000	50,000.00		





Tabulation of Bids

Page 7 of 13

Letting:	05200602	June 02, 2020	Cal	l Order: 007		Contract:	Z5054	
Line No / I		nte Quantity Units	(1) TRAFFIC DEVICE		(2) AMERICAN I SIGNALIZA			
	item is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(EMERGENCY	MAINTENANCE (I	МН				
VEHICULAR 7) 180 FRAFFIC SIGNAL, DIFY EXISTING SIGN	35.000 AS AL	155.00000	5,425.00	2,500.00000	87,500.00		
VEHICULAR S REPAIR/REPI) 2102 BIGNAL AUXILIARIES LACE/RETROFIT- FU ACKPLATE- BLACK ' RDER	RNISH	521.00000	13,025.00	300.00000	7,500.00		
PEDESTRIAN	3 1 11 I SIGNAL, FURNISH (COUNTDOWN, 1 W		648.00000	25,920.00	350.00000	14,000.00		
PEDESTRIAN	3 1 12 I SIGNAL, FURNISH 6 COUNTDOWN, 2 W		1,356.00000	54,240.00	750.00000	30,000.00		
PEDESTRIAN	3 1 60 I SIGNAL, REMOVE F E/PEDESTAL TO RE		77.50000	775.00	80.00000	800.00		
LOOP ASSEM) 2401 MBLY, F&I, VEHICLE LEAD IN- HOMERUN R, AERIAL	25.000 LF	1.05000	26.25	10.00000	250.00		
VEHICLE DET) 351 FECTION SYSTEM- , ADJUST & MODIFY JIPMENT	10.000 EA	653.00000	6,530.00	1,000.00000	10,000.00		
VEHICLE DET) 3 52 FECTION SYSTEM - , ADJUST & MODIFY JND EQUIPMENT	15.000 EA	900.00000	13,500.00	2,000.00000	30,000.00		





Tabulation of Bids

Page 8 of 13

Letting:	05200602	June 02, 2020	Cal	l Order: 007		Contract:	Z5054	
	/ Item ID Alternatescription	e Quantity Units	(1) TRAFFIC DEVICE		(2) AMERICAN L SIGNALIZA			
() indicate	es item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 0001	(EMERGENCY	MAINTENANCE (I	MH				
VEHICLE D	60 411 ETECTION SYSTEM- VI INSTALL CABINET T	30.000 DEO, EA	17,790.00000	533,700.00	17,000.00000	510,000.00		
VEHICLE D	60 412 ETECTION SYSTEM- VI INSTALL ABOVE GROUT		3,244.00000	97,320.00	13,000.00000	390,000.00		
VEHICLE D	60 441 ETECTION SYSTEM- VI CABINET EQUIPMENT	5.000 DEO, EA	913.00000	4,565.00	2,000.00000	10,000.00		
VEHICLE D	60 4 42 ETECTION SYSTEM- VI ABOVE GROUND T	5.000 DEO, EA	1,364.00000	6,820.00	2,500.00000	12,500.00		
VEHICLE D	60 451 ETECTION SYSTEM- VI DDIFY CABINET EQUIPN		490.00000	4,900.00	500.00000	5,000.00		
VEHICLE D	60 452 ETECTION SYSTEM- VI DDIFY ABOVE GROUND T		1,397.00000	13,970.00	1,500.00000	15,000.00		
	65 1 11 AN DETECTOR, FURNIS TANDARD	10.000 SH & EA	252.00000	2,520.00	300.00000	3,000.00		
INTERSECT	70 4 1 FION CONTROL BEACO ER ASSEMBLY, FURNIS		2,139.00000	21,390.00	600.00000	6,000.00		





Tabulation of Bids

Page 9 of 13

Letting:	0520	00602 Ju	ne 02, 2020	Cal	l Order: 007		Contract:	Z5054	
	o / Item ID escription	Alternate	Quantity Units	(1) TRAFFIC DEVICE		(2) AMERICAN I SIGNALIZA			
() indica	ates item is bid as	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
\$	SECTION: 00	001 (E	EMERGENCY	MAINTENANCE (I	МН				
	670 5110 CONTROLLER A	ASSEMBLY,	10.000 AS	33,730.00000	337,300.00	28,000.00000	280,000.00		
TRAFFIC C	0670 5111 CONTROLLER A, 1 PREEMPTI		10.000 AS	27,567.00000	275,670.00	28,000.00000	280,000.00		
TRAFFIC C	0670 5112 CONTROLLER A, 2 PREEMPTI		10.000 AS	36,052.00000	360,520.00	28,000.00000	280,000.00		
	670 5400 CONTROLLER	ASSEMBLY,	10.000 AS	743.00000	7,430.00	2,500.00000	25,000.00		
TRAFFIC C	670 5600 CONTROLLER CONTROLLER		10.000 AS ET	1,089.00000	10,890.00	300.00000	3,000.00		
TRAFFIC C	670 5700 CONTROLLER E- MINOR REPA		10.000 AS	826.00000	8,260.00	1,000.00000	10,000.00		
CONTROL REPLACE	678 1104 LER ACCESSO EXISTING- FU LOAD SWITCH	IRNISH AND	10.000 EA	277.00000	2,770.00	2,500.00000	25,000.00		
CONTROL REPLACE	678 1109 LER ACCESSO EXISTING- FU YPE 3 TIME SV	IRNISH AND	10.000 EA	3,573.00000	35,730.00	1,100.00000	11,000.00		





Tabulation of Bids

Page 10 of 13

Letting:	05200602	June 02, 2020	Cal	l Order: 007		Contract:	Z5054	
	o / Item ID Alternat	e Quantity Units	(1) TRAFFIC DEVICE		(2) AMERICAN L SIGNALIZA			
() indica	ates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
:	SECTION: 0001	(EMERGENCY	MAINTENANCE (I	МН				
CONTROL REPLACE	678 1110 LER ACCESSORIES, EXISTING- FURNISH AN YPE 4 TIME SWITCH	10.000 EA	3,573.00000	35,730.00	1,200.00000	12,000.00		
SYSTEM A	685509 AUXILIARIES, REMOTE IANAGEMENT UNIT- PRO 52-01	10.000 EA DJECT	1,734.00000	17,340.00	800.00000	8,000.00		
SIGN PAN	700 3201 EL, FURNISH & INSTALL ID MOUNT, UP TO 12 SF		568.00000	28,400.00	500.00000	25,000.00		
SIGN PAN	700 3204 EL, FURNISH & INSTALL ID MOUNT, 31-50 SF	50.000 EA	2,466.00000	123,300.00	1,500.00000	75,000.00		
	700 3501 EL, RELOCATE, UP TO 1	20.000 2 SF EA	270.00000	5,400.00	400.00000	8,000.00		
	700 3601 EL, REMOVE, UP TO 12	20.000 SF EA	116.00000	2,320.00	100.00000	2,000.00		
INTERNAL	700 5 11 LLY ILLUMINATED SIGN, & INSTALL GROUND MO SF	50.000 EA DUNT,	3,766.00000	188,300.00	4,000.00000	200,000.00		
INTERNAL FURNISH	700 5 21 LLY ILLUMINATED SIGN, & INSTALL OVERHEAD JP TO 12 SF	50.000 EA	5,736.00000	286,800.00	4,500.00000	225,000.00		





Tabulation of Bids

Page 11 of 13

Letting	j: 05	200602	June 02, 2020	Cal	l Order: 007		Contract:	Z5054	
	No / Item ID Description	Alternat	e Quantity Units	(1) TRAFFIC DEVICE		(2) AMERICAN I SIGNALIZA			
() indi	icates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(EMERGENCY	MAINTENANCE (МН				
INTERNA FURNISH	0700 522 ALLY ILLUMIN H & INSTALL, , 12-18 SF		50.000 EA	5,256.00000	262,800.00	5,000.00000	250,000.00		
INTERNA	0700 5 40 ALLY ILLUMIN FURNISHED		50.000 EA	543.00000	27,150.00	1,000.00000	50,000.00		
	0700 5 50 ALLY ILLUMIN ATE	IATED SIGN,	10.000 EA	1,005.00000	10,050.00	1,500.00000	15,000.00		
	0700 5 60 ALLY ILLUMIN E	IATED SIGN,	10.000 EA	310.00000	3,100.00	400.00000	4,000.00		
INTERNA RETROF	0700 5 70 ALLY ILLUMIN FIT KIT OR LE FOR EXISTING	D RETROFIT	50.000 EA	2,360.00000	118,000.00	600.00000	30,000.00		
SIGN BE	0700 12 11 EACON, F&I G /ERED, ONE		5.000 JNT- AS	2,555.00000	12,775.00	5,500.00000	27,500.00		
SIGN BE	0700 12 12 EACON, F&I G /ERED, TWO		10.000 JNT- AS	3,135.00000	31,350.00	5,800.00000	58,000.00		
SIGN BE	0700 12 21 EACON, F&I G POWERED, O		15.000 JNT- AS	4,578.00000	68,670.00	7,000.00000	105,000.00		





Tabulation of Bids

Page 12 of 13

Letting:	05200602 Jui	ne 02, 2020	Cal	l Order: 007		Contract:	Z5054	
Line No / Item ID Alternate Quantity Item Description Units		Quantity Units	(1) TRAFFIC CONTROL DEVICES, INC.		(2) AMERICAN LIGHTING AND SIGNALIZATION, LLC.			
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (EMERGENCY MAINTENANCE (MH								
SIGN BEACO	12 22 N, F&I GROUND MOUNT- ERED, TWO BEACONS	20.000 AS	6,607.00000	132,140.00	9,000.00000	180,000.00		
	12 31 N, F&I OVERHEAD MOUN N	25.000 NT, AS	2,222.00000	55,550.00	2,500.00000	62,500.00		
	I 12 32 N, F&I OVERHEAD MOUN NS	25.000 NT, AS	4,426.00000	110,650.00	4,600.00000	115,000.00		
	0001 EMERGENCY Sect AINTENANCE (MH)	ion Totals:		\$5,800,867.50		\$6,198,300.00 [']		
Contract Grand Totals:				\$5,800,867.50		\$6,198,300.00		



07/01/2020

Tabulation of Bids

Page 13 of 13

Letting: 05200602 June 02, 2020 **Call Order:** 007 **Contract:** Z5054

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.